SAP ABAP table TPROFIT2 CUST {Trading Contract: Table of Status Fields}
TPROFIT2 CUST-MANDT = T000-MANDT To00

-7 MANDT [CLNT (3)]

- TEWSTEP

MANDT [CLNT (3)]
TPROFIT2 CUST-STEP = TEWSTEP-STEP __ _-0.N | TEW_TYPE [CHAR (4)]

-7 STEP [CHAR (4)]

- TEWSTEP20P

) MANDT [CLNT (3)]

TPROFITZ_CUST'PRE_STEP = TEWSTEPZOP‘PRE_STEP _________ N m [CHAR (4)]
—————————— 0..N [STEP[CHAR (4)]

0-N | TEW_MODE [CHAR (4)]

—_ PRE_STEP [CHAR (4)]

TEWTYPE

MANDT [CLNT (3)]
TEW TYPE [CHAR (4)]

e
-
—_— -
—_— -

T - TPROFIT_POPUP2

_________________________ MANDT [CLNT (3)]

WB2 _SIM _INDEX [CHAR (1)]

~ - TPROF_SIM_GROUP

Tt -~ MANDT [CLNT (3)]

________________________ 0..N | PROF_SIM_GROUP [CHAR (1)]




